
Supplementary notes file () Irene Ho CC Wong (Hong Kong)

Note:..1:1C-2C=11+HCP, 4+card C, deny 4 card M, 5cardD

1C-3C=~9HCP, 5+card, deny 4 card M, limit

Opener rebid: 2NT=min & bal; 3C=min, 4+card C

2M=3+card, good hand, intend 3NT/slam try

Resp: Bid a M below 3-level tend to show fragment

Note:..2:1M- 2NT = Trump asking

3C=xxxxx; 3D=Hxxxx; 3H=HHxxx; 3S=Hxxxxx; 3NT=HHxxxx

4C=AKQxxx; DOPI

subsequent bid by opener is ctr ask; resp in 3 steps

1st=xx(x)(x); 2nd=x/Kx; 3rd=void/A

Note:..3:Ogust: 2NT/2M opening

Opener:3C=6-9, poor suit; 3D=6-9, fair suit; 3H=9-11,poor suit

3S=9-11,fair suit; 3NT = AKQxxx

Resp:2S/2H or3C/2S = ask for S/H supp

Opener: 1st step =poor suit, no supp (Hx/xxx=supp)

2nd step =poor suit, supp

3nd step =good suit, no supp

4th step =good suit, supp

Note:..4:Gambling 3NT

Resp:4C=P/C; 4D=Q, slam try; opener co-operate w/ new suit show

ctr; 4NT= pick m; 4M=end

Note:..5:Namyats:

4C/D=4H/S; 7 card suit(1 looser) + A ;~8.5 PT

Resp:4D/4C or 4H/4D = fit and slam try; opener co-op w/Q

Note:..6:Lebensohl

/1NT:(2x)-  2-level=4+card,~8HCP,NF

3-level=5+card,8+HCP, F1

X=penalty oriented

2NT=trf to C; then P/C; then 3NT = stopper

3NT=to play w/o stopper (fast deny stopper)

3x=Stay; then 3Nt= to play w/o stopper

(2x=art)-  Q=Stay

(2x=2 suit)-  Q lower = Stay; Q upper = FG

vs weak twos:  (2M) - dbl - (P) - 2NT = trf to C, then P/C

2x=NF; 3x= 8+HCP, 5+card

Note:..7:Splinter

by resp:11-15 limit; by opener: 16-19 limit

Note:..10:D3 vs str 1C

X=4-4 M; 1NT = 5-5 m

overcall M = 4+card; m=5+card m; 8-15HCP

jump = weak 6+card

pass then bid = 16+HCP
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